
Generelle monteringsprinsipper Norleg

Side 2	 Nr 1	 M16
Side 3	 Nr 2	 M16 sidemontert m/avstand
Side 4	 Nr 3	 Øyebolt 100 mm kjede
Side 5	 Nr 4	 Øyebolt 100 mm
Side 6	 Nr 9	 Øyebolt

Side 7	 Nr 19	 Fundament
Side 8	 Nr 22	 Øyebolt mask
Side 9	 Nr 23	 Klatreplate
Side 10	 Nr 27 	 Klatregrep på plate
Side 11	 Nr 28	 M12 Gliderør

Side 12	 Nr 29	 Brandstang
Side 13	 Nr 42	 Gynge/huske
Side 14	 Nr 43	 Gyngeoppheng
Side 15	 Nr 48/49	 Sikkerhet
Side 16	 Nr 53 	 ... utgått se nr 27 og 54a

Side 17	 Nr 54	 M16 m/avstand
Side 18	 Nr 54a	 M16 m/avstand
Side 19	 Nr 55	 M16
Side 20	 Nr 56	 Tårnkasse
Side 21	 Nr 108	 Forankring av tau



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 2

5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16



Side 3

1

1

4
Ø 38

3

5

 min. 30 mm

2

2

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16152   Ø 16mm A2 DIN 125A
3   LE 16100   M16 A2 DIN 985
4   LE 15250-56   M16 A2 TREAD ROD
5   LE 15108   Ø 38x 40mm A2

Ø 20

Ø 38

Ø 20

Mont.p. nr. 2
NORLEG

02.02.2004 G:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

M16 sidemontert m/avstand



Side 4

LE

Mont.p. nr. 3
NORLEG

02.02.2004 G: 28.03.2017REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

25

Øyebolt 100 mm kjede



Side 5

Parts list
POS PART. NO NAME/DIMENSION

1 LE 16048 10x110/75 mm A2 (Total 120mm)
2 LE 16502 Nylon 6,2x10x10 mm
3 LE 13100 6x19 mm AISI316

1

3

2

Ø 11

LE

Mont.p. nr. 4
NORLEG

02.02.2004 F: 28.03.2017REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

25

Øyebolt 100 mm



Side 6

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16048   10X110/75 mm A2 (Total 120mm)
2   LE 16502   NYLON 6,2X10X10
3   LE 13100   6X19 mm AISI316

Ø 11

1

2

3

LE

Mont.p. nr. 9
NORLEG

10.02.2004 H: 28.03.2017REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

25

Øyebolt



Side 7

LE

Mont.p. nr. 19
NORLEG

15.01.2016 -REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

>C25
> 0,035 m³

2. "0" niveau

Parts list
POS PART. NO NAME/DIMENSION

1 LE
15900-2-3-4-6-7

ID plate

2 LE 16320 6X50 TX30

1

> 
40

0 30
0

50
0 

- 7
00

80
0 

- 1
00

045°

R100

R100

> 300

> 
20

0

E
N

11
76

 m
ax

im
um

N
or

le
g 

m
in

im
um

Fundament



Side 8

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16037   10X110 M10 A4
3   LE 13100   6x19 mm AISI316
4   LE 16502   NYLON 6,2X10X10
5   LE 16153   M10 A2 DIN 9021
6   LE 16104   M10 A2 DIN 985

1

6
5

5
4
3

Ø 12

Ø 38

2

LE

Mont.p. nr. 22
NORLEG

17.03.2005 G: 06.11.2014REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

Øyebolt mask



Side 9

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 15129   M16 x 170 MM
3   LE 16152   M16 A2 DIN125A
4   LE 15108   Ø38 x 40MM A2
5   LE 16060   M16 A2 DIN 986
6   LE 16054   M10 A2 DIN 986
7   LE 16156   M10 A2 DIN 125A
8   LE16084   M10 x 40 MM A2 DIN 7380
9   LE15116   BRACKET A2

1

2
3

7
8

9

6

Ø 18

5

3

Ø 11

4

Ø 38

LE

Mont.p. nr. 23
NORLEG

17.03.2005 H: 04.02.2015REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

Klatreplate



Side 10

LE

Mont.p. nr. 27
NORLEG

04.11.2005 C: 03.11.2015REV.

-

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 15050   Climbing stone
2   LE 16081   M10X30 mm A2 ISO 7380
3   LE 16083   M10X35 mm A2 ISO 7380
4   LE 16084   M10X40 mm A2 ISO 7380
5   LE 16074   M10X45 mm A2 ISO 7380
6   LE 16082   M10X50 mm A2 ISO 7380
7   LE 16041   M10 A2 WS 9312
8   LE 16177   4X25 mm DIN 9135
9   LE 16191   4X30 mm DIN 9135

10   LE 16311   4X35 mm DIN 9135
This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

Klatregrep på plate



Side 11

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16167   M12 A2 WS 9247
3   LE 16098   M12 DIN 985 A2 WAX

1

LE

Mont.p. nr. 28
NORLEG

02.02.2004 F: 12.04.2016REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

30

Min. 25 mm, max. 45 mm

M12 Gliderør



Side 12

Ø 14

Ø 38

Ø 38

Ø 14

LE

Mont.p. nr. 29
NORLEG

04.11.2005 C: 15.09.2014REV.

-

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 16098   M12 A2 DIN 985
2   LE 16167   M12 A2 DIN 125A
3   LE 16556 DPC 42 Ø 38,1 mm

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

min 25

38 38

Brandstang



Side 13

LE

Mont.p. nr. 42
NORLEG

28.09.2007 F: 24.09.2015REV.

-

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 16530   M10 - BLACK
2   LE 16250   10x60 MM A2 DIN 571
3   LE 16215   M10x90 A2 DIN 933
4   LE 16156      M10 A2 DIN 125A
5   LE 16104   M10 A2 DIN 985
6   LE 16556   DPC42 - Ø 38 MM
7   LE 16080   10x25 MM A2 DIN 7380

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

Gynge/huske



Side 14

LE

Mont.p. nr. 43
NORLEG

28.09.2007 G: 20.02.2015REV.

-

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 40102   Swing joint
2   LE 16216   M10x120 A2 DIN933
3   LE 16104      M10 A2 DIN985
4   LE 16530   M10 Black cap
5   LE 13100   19 mm AISI316

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

Gyngeoppheng



Side 15

LE

Mont.p. nr. 48 - 49
NORLEG

17.01.2008 C: 03.02.2017REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

m
in

 1
55

 m
m

> 25 mm < 45 mm

M: 48 M: 49

Sikkerhet



Side 16

LE

Mont.p. nr. 53
NORLEG

05.03.2010 B: 29.10.2015REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

M:54A

M:54A

M:27

M:27

M:54A

LE

Mont.p. nr. 53
NORLEG

05.03.2010 B: 29.10.2015REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

M:54A

M:54A

M:27

M:27

M:54A

... utgått se nr 27 og 54a



Side 17

Mont.p. nr. 54
NORLEG

19.04.2010 D:14.12.2017REV.

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 16556   DPC 42 ø 38,1 mm
2   LE 16100   M16 A2 DIN 985
3   LE 16152   M16 A2 DIN 125A
4   LE 15250-56   M16 A2 TREAD ROD
5   LE 15108      Ø 38 x 40mm A2

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

1
2
3
4
5
3

Ø 38Ø 20

M16 m/avstand



Side 18

Mont.p. nr. 54A
NORLEG

29.10.2015 REV.

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 16556   DPC 42 ø 38,1 mm
2   LE 16100   M16 A2 DIN 985
3   LE 16152   M16 A2 DIN 125A
4   LE 15250-56   M16 A2 TREAD ROD
5   LE 15108      Ø 38 x 40mm A2

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

1
2
3
4
5

Ø 38Ø 20

Ø 38

1

3

A:14.12.2017

M16 m/avstand



Side 19

Mont.p. nr. 55
NORLEG

19.04.2010 D:14.12.2017REV.

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 16556   DPC 42 ø 38,1 mm
2   LE 16100   M16 A2 DIN 985
3   LE 16152   M16 A2 DIN 125A
4   LE 15250-56   M16 A2 TREAD ROD
5   LE 15108      Ø 38 x 40mm A2

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

1
2
3
4
5

3

Ø 38Ø 20

1

M16



Side 20

LE

Mont.p. nr. 56
NORLEG

18.10.2010 D: 11.02.2016REV.

-

Parts list
POS PARTS NO NAME/DIMENSION

1   LE 16192   5x80 mm ASSY 3,0
2   LE 11230   45x95 mm larch

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

2

Ø 4,5

1

1

1 2

2

70 45

200

100 100100

Tårnkasse



Side 21

LE

Mont.p.nr. 108
NORLEG

10.10.2017 A:REV.

-

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

Forankring av tau



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 22



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 23



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 24



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 25



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 26



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 27



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 28



5

Ø20

4

1

Ø 38

2

3

Parts list
POS PART. NO NAME/DIMENSION

1   LE 16556   DPC 42 Ø 38,1 mm
2   LE 16558   DPC 48 Ø 44,5 mm
3   LE 16152   Ø 16mm A2 DIN 125A
4   LE 16100   M16 A2 DIN 985
5   LE 15250-56   M16 A2 TREAD ROD

3

Ø 44,5

Mont.p.nr. 1
NORLEG

02.02.2004 B:14.12.2017REV.

This drawing is the property of NORLEG and pursuant to current
legislation may not be copied, transferred to or used by any third party.
Should this drawing be used, a fee of 10% of the assumed
contract price will be charged.

10
0

M16

Side 29


